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PHYSICS (Theory) 

HkkSfrd foKku ¼lS)kfUrd½ 
Time allowed: 2 HOURS                   Maximum Marks : 40 

 Please check that this question paper contains 12 printed pages. 

 Ñi;k tka¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 12 gSaA 

 

 Question Paper Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate.  

 iz'u&i=k esa nkfgus gkFk dh vksj fn, x, iz'u&i=k dksM+ dks Nk=k mÙkj&iqfLrdk ds eq[k&i"̀B ij fy[ksaA 

 

 Please check that this question paper contains 12 questions.  

 Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 12 iz'u gSA 

  

 Please write down the Serial Number of the question in the answer-book before attempting it.  

 Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

  

 15 minute time has been allotted to read this question paper. The question paper will be distributed at 

10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question paper only and will not 

write any answer on the answer-book during this period.  

 bl iz'u&i=k dks i<+us ds fy, 15 feuV dk le; fn;k x;k gSA iz'u&i=k dk forj.k iwokZà esa 10.15 a.m. cts fd;k 

tk;sxkA 10.15 a.m. cts ls 10.30 a.m. cts rd Nk=k dsoy iz'u&i=k dks i<s+xsa vkSj bl vof/k ds nkSjku os 

mÙkj&iqfLrdk ij dksbZ mÙkj ugha fy[kasxsA 
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General Instructions lkekU; funsZ'k: 

Read the following instructions very carefully and strictly follow them. 

fuEufyf[kr funsZ'kksa dks cgqr lko/kkuh ls if<+, vkSj mudk ikyu dhft,A  

(i) This questions paper contains 12 questions. All questions are compulsory.  

bl iz'u&i=k esa dqy 12 iz'u gSA lHkh iz'u vfuok;Z gSA   

(ii) This questions paper is divided into three sections – Section A, B and C.  

;g iz'u i=k rhu [kaMksa esa foHkkftr gS& [kaM d] [k vkSj xA 

(iii) Section A : Q. Nos. 1 to 3 are of 2 marks each. 

[k.M&d : iz'u la[;k 1 ls 3 rd izR;sd iz'u 2 vad dk gSA  

(iv) Section B : Q. Nos. 4 to 11 are of 3 marks each. 

[k.M&[k : iz'u la[;k 4 ls 11 rd izR;sd iz'u 3 vad dk gSA  

(v) Section C : Q. No. 12 is a case study based questions of 5 marks. 

[k.M x : iz'u la[;k 12 izdj.k v/;;u vk/kkfjr iz'u gS] ;g iz'u 5 vad dk gSA  

(vi) There is no coverall choice in the questions paper. However, internal choice has been provided in some of 

the questions. Attempt any one of the alternatives in such questions. 

 iz'u i=k esa dksbZ lexz fodYi ugha gSA gkyk¡fd dqN iz'uksa esa vkarfjd fodYi iznku fd, x, gSA buesa ls dsoy ,d gh 

iz'u dk mÙkj fyf[k,A   

(vii) Use of log tables is permitted, if necessary, but use of calculator is not permitted. 

 ykWx Vscy dk mi;ksx dj ldrs gSa] ;fn vko';d gks] ysfdu dSY;qysVj ds mi;ksx dh vuqefr ugha gSA 

 c = 3 × 108 m/s 

 h = 6.63 × 10–34 Js 

 e = 1.6 × 10–19C 

 0 = 4 × 10–7 T mA–1 

 0 = 8.854 × 10–12 C2N–1m–2 

 229

0

CNm109
4

1 


 

 Mass of electrons bysDVªkWu dk nzO;eku (me) = 9.1 × 10–31 kg 

 Mass of neutron U;wVªkWu dk nzO;eku = 1.675 × 10–27 kg 

 Mass of proton izksVkWu dk nzO;eku = 1.673 × 10–27 kg 

 Avogadro's number vkoksxknzks la[;k = 6.023 × 1023 per gram mole izfr xzke eksy 

 Boltzmann constant cksYV~t+eku = 1.38 × 10–23 JK–1 
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SECTION - A 

1. (a) (i) Distinguish between isotopes and isobars. 

(ii) Two nuclei have different mass numbers A1 and A2. Are these nuclei necessarily the 

isotopes of the same element ? Explain ? 

 (a) (i) leLFkkfudksa vkSj leHkkfjdksa ds chp foHksnu dhft,A 

(ii) nks ukfHkdksa ds fofHkUu ijek.kq æO;eku A1 vkSj A2 gSaA D;k ;s ukfHkd vko';d :i ls leku rRo ds 

leLFkkfud gSa \ O;k[;k dhft,A 

OR 

 (b) (i) Name the factors on which photoelectric emission from a surface depends. 

  (ii) Define the term 'threshold frequency' for a photosensitive material. 

 (b) (i) mu dkjdksa dk uke fyf[k, ftu ij fdlh i`"B ls izdk'k&fo|qr mRltZu fuHkZj djrk gSA 

  (ii) fdlh izdk'k lqxzkgh inkFkZ ds fy, nsgyh vkòfÙk dh ifjHkk"kk fyf[k,A 

Sol. (a) (i) Isotopes :  
 The atoms of an element which have the same atomic number but different mass number are called 
 isotopes. 

 Examples : Lithium has two isotopes 6

3
Li  and 7

3
Li , 

 Isobars :  
 The atoms having the same mass number but different number of protons and electrons 
 

 Examples: 3

1 H  and 3

2He , as both have same A = 3 

 (ii) No, because they could have different numbers of protons. 
 

OR 
 (b)(i) Cross sectional area, material of surface etc.  
 (ii) The minimum amount of frequency of incident light below which no photo electric emission is called 
 threshold frequency  
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2. Explain the formation of the barrier potential in a p–n junction. 

 fdlh p–n laf/k esa jkf/kd foHko cuus dh O;k[;k dhft,A 

Sol. Formation of Depletion Region in p - n Junction  
In an n - type semiconductor, the  concentration of electrons is more than that of holes. Similarly, in a p - 
type semiconductor, the concentration of holes is more than that of electrons. During the formation of p - 
n junction and due to the concentration gradient across p and n - sides, holes diffuse from p - side to n - 
side (p n) and electrons diffuse from n -side to p - side (n p). The diffused charge carriers combine 

with their counterparts in the immediate vicinity of the junction and neutralise each other.Thus, near the 
junction positive charge is built on n - side and negative charge on p - side. 

    
    p - n junction formation process 
    

This  sets up potential difference across the junction and an internal electric field E
i
 directed from n - side 

to p - side. The equilibrium is established when the filed E
i
 becomes strong enough to stop further diffusion 

of the majority charge carriers (however, it helps the minority charge carriers to diffuse across the 
junction).The region on either side of the junction which becomes depleted (free) from the mobile charge 
carriers is called depletion region or depletion layer. The width of depletion region is of the order of 10–6 
m. The potential difference developed across the depletion region is called the potential barrier. It 
depends on dopant concentration in the semiconductor and temperature of the junction. 

 
3. Name the extrinsic semiconductors formed when a pure germanium is doped with (i) a trivalent and (ii) 

pentavalent impurity. Draw the energy band diagrams of extrinsic semiconductors so formed. 

 tc 'kq) tesZfu;e dk eknu (i) fdlh f=kla;kstd vkSj (ii) fdlh iapla;kstd v'kqf) ls fd;k tkrk gS rks fufeZr viæO;h 

v)Zpkyd dk uke fyf[k,A bl izdkj fufeZr viæO;h v)Zpkydksa ds ÅtkZ cS.M vkjs[k [khafp,A 
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Sol. (i) p-type semiconductor  

 (ii) n-type semiconductor 

 energy band diagrams of extrinsic semiconductors 

  

 

SECTION - B 

4. (a)  Write two necessary conditions for total internal reflection. 

 (b) Two prisms ABC and DBC are arranged as shown in figure. 

 The critical angles for the two prisms with respect to air are 41.1° and 45° respectively. Trace the path of 

the ray through the combination. 

 (a)  iw.kZ vkUrfjd ijkorZu ds fy, nks vko';d 'krs± fyf[k,A 

 (b) vkjs[k esa n'kkZ, vuqlkj nks fizTeksa ABC vkSj DBC dks O;ofLFkr fd;k x;k gSA  

ok;q ds lkis{k bu nksuksa fizTeksa ds Økafrd dks.k Øe'k% 41.1° vkSj 45° gSaA fizTeksa ds la;kstu ls izdk'k fdj.k ds iFk 

dks vkjsf[kr dhft,A 
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45°

60°

60°

A

B C

D  

OR vFkok 
(a) An object is placed in front of converging lens. Obtain the conditions under which the 

magnification produced by the lens is (i) negative and (ii) positive. 

 dksbZ fcEc fdlh vfHklkjh ysal ds lkeus ffLFkr gSA og 'krsZ izkIr dhft, ftlesa bl ysal }kjk mRiUu vko/kZu 
(i) _.kkRed vkSj (ii) /kukRed gksrk gSA  

 (b) A point object is placed at O in front of a glass sphere as shown in figure. 

 dksbZ fcUnqfdr fcEc fdlh dk¡p ds xksys ds lkeus vkjs[k esa n'kkZ, vuqlkj O ij fLFkr gSA  

     

 

3r r

O 

C 

 
  Show the formation of image by the sphere 

  bl xksys ds }kjk izfrfcEc cuuk n'kkZb,A 

Sol. (a) (i) Light incident from denser medium to rarer medium  
 (ii) The incident angle is greater than critical angle  
 (b)  

 

45°

60°

60°

A

B C

D

45°
45°

60°
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OR 
 (a) (i) Magnification is negative for real image  
 (ii) Magnification is positive for virtual image  
 

(b)  
 

3r r

O

C 7r

9r

1 2 1 

 

 
Ruv

1212 






 

 
r

5.0

r3

1

v

5.1



  

 
r3

1

r

5.0

v

5.1
  

 
r3

15.1

v

5.1 
  

 
r3

5.0

v

5.1
  

 v = 
5.0

r35.1 
 = 9r 

 
rr7v

2121 






 

 
r

5.0

r7

1

v

5.1
  

 r3.2r
3

7
v   

 

SECTION – B 

[k.M&c 

5. The work function of metal is 2.31 eV. Photoelectric emission occurs when light of frequency  

6.4 × 10–14 Hz is incident on the metal surface. Calculate : (i) the energy of the incident radiation, (ii) the 

maximum kinetic energy of the emitted electron and (iii) the stopping potential of the surface. 

 fdlh /kkrq dk dk;ZQyu 2.31 eV gSA bl /kkrq ds i`"B ij 6.4 × 10–14 Hz vkòfÙk ds izdk'k ds vkifrr gksus ij 

izdk'kfo|qr mRltZu gksrk gSA (i) vkifrr fofdj.kksa ds ÅtkZ, (ii) mRlftZr bysDVªkWuksa dh vf/kdre xfrt ÅtkZ vkSj 

(iii) i`"B dk fujks/kh foHko ifjdfyr dhft,A  
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Sol. (i) E = h

 = 6.62 × 10–34 × 6.4 × 1014 

 = 42.36 × 10–20 J 

 (ii) h = 0 + K.E. 

 K.E. = h – 0 

 = 42.36 × 10–20 – 3.696 × 10–19  

 = 0.5408 × 10–19 J 

 (iii) K.E. = eV0 

 
e

.E.K
V0   = 0.338 V 

6. A beam of light consisting of two wavelengths 600 nm and 500 nm is used in a Young's double slit 

experiment. The slit separation is 1.0 mm and the screen is kept 0.60 m away from the plane of the slits. 

Calculate : 

 (i) the distance of the second bright fringe from the central maximum for wavelength  500 nm, and   

 (ii) the least distance from the central maximum where the bright fringes due to both the wavelength 

coincide.  

 ;ax ds fdlh f}&f>jhZ iz;ksx 600 nm vkSj 500 nm dh nks rjaxnS/;ksZa ls cus izdk'k iqat dk mi;sx fd; x;k gSA 

f>jhZ&iF̀kdu 1.0 mm vkSj insZ dks f>fjZ;ksa ds ry ls 0.60 m dh nwjh ij j[kk x;k gSA  

 (i) 500 nm rjaxnS/;Z ds fy, dsUnzh; mfPp"B ls nwljh pedhyh fÝat dh nwjh,  

 (ii) dsUnzh; mfPp"B ls og de ls de nwjh ftl ij nksuksa rjaxnS/;ksZa ds dkj.k cuh pedhyh fÝatsa laikrh gSA  

Sol. (i) yn =
d

Dn
 = 

3

9

101

60.0105002







 = 600 × 10–6 m 

 (ii) 
d

Dn

d

Dn 2211 



 

 n11 = n22 

 6n1 = 5n2 

 n1 = 5 

 n2 = 6  y is least distance so n takes integer 

 
d

Dn
y 11  

 y = 
3

9

101

60.0106005







 

 y = 180 × 10–6 m 
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7. (a) Electromagnetic waves of wavelength 1, 2 and3 are used in radar systems, in water purifiers and 

in remote switches to TV, respectively. 

 (i) Identify the electromagnetic waves, and 

 (ii) Write one source of each of them. 

 (a) 1, 2 vkSj 3 rjaxnS/;Z dh fo|qr&pqEcdh; rjaxksa dk mi;ksx Øe'k% jsMkj fudk;ksa esa] ty 'kks/kdksa esa vkSj Vhoh ds 

lqnwj fLopksa esa fd;k tkrk gSA  

 (i) bu fo|qr&pqEcdh; rjaxksa dks igpkfu,] rFkk  

 (ii) buesa izR;sd ds fy, ,d&,d L=kksr fyf[k,A  

OR vFkok 

 (b) (i) State two conditions for two light sources to be coherent. 

 (ii) Give two points of difference between an interference pattern due to a double– slit and a diffraction 

pattern due to a single slit. 

 (b) (i) nks izdk'k L=kksrksa ds dyklEc) gksus ds fy, nks 'krks± dk mYys[k dhft,A  

 (ii) nks f>fjZ;ksa ds dkj.k mRiUu O;frdj.k iSVuZ vkSj ,dy f>jhZ ds dkj.k foorZu iSVuZ ds chp nks vUrj fyf[k,A  

Sol. (a) (i) Microwaves, UV rays, Infrared radiations respectively  

 (ii) Klystron valve or magnetron valve, Inner shell electrons in atoms moving from one energy level to a 

lower level, Vibration of atoms and molecules respectively 

OR 

 (i) (a) The light sources have same wavelength and same frequency  

      (b) The light sources have constant phase  

(ii) (a) The interference pattern has a number of equally spaced bright and dark bands. Where as the 

diffraction pattern has a central bright maximum, which is twice as wide as the other maxima. The intensity 

falls as we go to successive maxima away from the centre on either side. 

(b) We calculate the interference pattern by superposing two waves origination from the two narrow slits. 

The diffraction pattern is a superposition of a continuous family of waves origination from each point on 

a single slit.  
 

8. In a diffraction pattern due to single slit, how will the angular width of central maximum change, if 

 (i) Orange light is used in place of green light,  

 (ii) The screen is moved closer to the slit, 

 (iii) The slit width is decreased? 

 Justify your answer in each case. 

 fdlh ,dy f>jhZ ds foorZu iSVuZ esa dsUnzh; mfPp"B dh dks.kh; pkSM+kbZ esa fdl izdkj dk ifjorZu gksxk] ;fn In a

 (i) gjs izdk'k ds LFkku ij ukjaxh izdk'k dk mi;ksx fd;k tk,  

 (ii) insZ dks f>jhZ ds fudV yk;k tk,] vkSj 

 (iii) f>jhZ dh pkSM+kbZ de dj nh tk,\ 

 izR;sd izdj.k esa vius mÙkj dh iqf"V dhft,A  
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Sol.  = 
a

2
 

 (i) Angular width of central maximum increases if orange light is used in place of green light  

 (ii) No changes  

 (iii) increases 

 

9. Briefly explain how emf is generated in a solar cell. Draw its I-V charrcteristics. 

 la{ksi esa O;k[;k dhft, fd fdlh lkSj lsy esa emf fdl izdkj mRiUu gksrh gSA blds fy, I-V vfHkyk{kf.kd vkjsf[kr 

 dhft,A  

Sol. When light photons (with energy hv > E
g
) reach the junction, they excite electrons from the valence band 

to conduction band, leaving behind equal number of holes in the valence band. These electron - hole 
pairs generated in the depletion region move in opposite direction due to the barrier field. Photo - 
generated electrons move towards n - sides and holes towards p - side. The collection of these charge 
carriers makes p - side a positive electrode and n - side a negative. Hence photo - voltage is set up across 
the junction. When a load resistance R

L
 is connected in the external circuit, a photo - current I

L
 flows, This 

current is proportional to the intensity of illumination .  
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10. (a) James Chadwick, in 1932, studied the emission of neutral radiations when Beryllium nuclei were 

bombarded with alpha particles. He concluded that emitted radiations were neutrons and not photons. 

Explain  

 (b) Two nuclei may have the same radius, even though they contain different number of protons and 

neutrons. Explain 

 (a) tsEl pkWMfod us 1932 esa ml le; mnklhu fofdj.kksa dk v/;;u fd;k Fkk tc vYQk&d.kksa }kjk csfjfy;e 

ukfHkdksa ij ceckjh dh x;h FkhA mUgksaus ;g fu"d"kZ fudkyk fd mRlftZr fofdj.k U;wVªkWuksa ds gSa izksVkWuksa ds ughaA O;k[;k 

dhft,A 

 (b) nks ukfHkdksa esa izksVkWuksa vkSj U;wVªkWuksa dh l[;k fHkUu gksus ij Hkh mudh f=kT;k leku gks ldrh gSA O;k[;k dhft,A  

Sol. (a)  

  
Experimental set up used by Chadwick to discover neutrons 

 
 •  The neutrons were discovered by James Chadwick in 1932. 

 •  Chadwick performed an experiment in which -particles from a radioactive Polonium source wire 
used to bombard beryllium nuclei.  

 •  Highly penetrating rays were found to come out of the beryllium metal, which could not be deflected 
by electric and magnetic field.  

 •  These radiations were used to bombard hydrocarbons like paraffin wax. High energy protons were 
knocked out from the paraffin wax.  

 •  The energy of the ejected protons was found to be too high to be accounted for -ray photons.  
 •  By using the laws of conservation of energy and momentum, Chadwick concluded that the 

penetrating radiation consisted of neutral particles, each having a mass nearly that of a proton. These 
particles were called neutrons. 

 •  The reaction may be written as  

 
14 9 12
02 4 6

He Be n C    

 Here denotes a neutron having zero charge and mass nearly the same as that of a proton. 
 (b) If sum of the number of protons and neutrons in the two nuclei is same, they can have the same 

radius because R  A1/3  

However, nuclear density of the two nuclei will always be the same. 
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11. (a) The energy of hydrogen atom in a orbit is –1.51 eV. What are kinetic an potential energies of the 

electron in this orbit? 

 (b) The electron in a hydrogen atom is typically found at distance of about 5.3 × 10–11 m from the nucleus 

which has a diameter of about 1.0× 10–15 m. Assuming the hydrogen atom to be a sphere of radius  

5.3 × 10–11 m, what fraction of its volume is occupied by the nucleus?  

 (a) fdlh d{kk esa gkbMªkstu ijek.kq dh ÅtkZ –1.51 eV gSA bl d{kk esa bysDVªkWu dh xfrt vkSj fLFkfrt ÅtkZ,¡ D;k 

gS\  

 (b) fdlh gkbMªkstu ijek.kq esa bysDVªkWu yxHkx 1.0× 10–15 m O;kl ds ukfHkd ls yxHkx 5.3 × 10–11 m nwjh ij ik;k 

tkrk gSA ;g ekurs gq, fd gkbMªkstu ijek.kq 5.3 × 10–11 m f=kT;k dk xksyk gS rks vk;ru ds fdrus va'k dks ukfHkd 

us ?ksj j[kk gS\  

Sol. (a) K.E. = 1.51 eV 

 P.E. = 2 × (–1.51) = –3.02 eV 

 (b) 
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SECTON – C 

[k.M&x 

CASE STUDY 

izdj.k v/;;u 

12. A compound microscope consists of two converging lenses. One of them, of smaller aperture and smaller 

focal length is called objective and the other of slightly larger aperture and slightly larger focal length is 

called eye-piece. Both the lenses are fitted in a tube with an arrangement to vary the distance between 

them. A tiny object is placed in front of the objective at a distance slightly greater than its focal length. 

The objective produces the image of the object which acts as object for the eye-piece. The eye piece in 

turn produces the final magnified image. 

 la;qDr lq{en'khZ nks vfHklkjh ysalksa ls feydj curk gSA ftuesa ,d ysal ftldk }kjd NksVk vkSj Qksdl nwjh de gksrh 

gS mls vfHkn'̀;d dgrs gSa rFkk nwljs ysal dks ftldk }kjd dqN cM+k gksrk gS vkSj Qksdl nwjh Hkh dqN vf/kd gksrh gS 

mls usf=kdk dgrs gSaA nksuksa ysalksa dks fdlh ufydk esa bl izdkj O;ofLFkr fd;k tkrk gS fd bu nksuksa ysalksa ds chp dh 

nwjh dks ifjofrZr fd;k tk ldsA fdlh y?kq fcEc dks vfHkǹ';d ds lkeus bldh Qksdl nwjh ls dqN vf/kd nwjh ij 

j[kk tkrk gSA vfHkn`';d bl fcEc dk izfrfCkEc cukrk gS] tks usf=kdk ds fy, fcEc dh Hkkafr dk;Z djrk gSA usf=kdk 

fQj fcEc dk vafre vkof/kZr izfrfcEc cuk nsrh gSaA 
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 I. In a compound microscope the images formed by the objective and the eye-piece are respectively 

 (A) virtual, real     (B*) real, virtual  

 (C) virtual, virtual     (D) real, real 

 fdlh la;qDr lw{en'khZ esa vfHkǹ';d vkSj usf=kdk }kjk cuk, x, izfrfcEc gkssrs gSa Øe'k% 

 (A) vkHklh] okLrfod    (B*) okLrfod, vkHkklh  

 (C) vkHklh, vkHklh     (D) okLrfod, okLrfod 

 

II. The magnification due to a compound microscope does not depend upon  

(A*) the aperture of the objective and the eye-piece  

(B) the focal length of the objective and the eye-piece 

(C) the length of the tube 

(D) the colour of the light used 

fdlh la;qDr lw{en'khZ ds dkj.k vko/kZu fuEufyf[kr esa ls fdl ij fuHkZj ugha djrk gS\  

(A*) vfHkn'̀d vkSj usf=kdk ds }kjd  

(B) vfHkǹ;;d vkSj usf=kdk dh Qksdl nwjh 

(C) ufydk dh yEckbZ 

(D) mi;ksx fd;k x;k izdk'k 

 

III. Which of the following is not correct in the context of a compound microscope? 

(A) Both the lenses are of short focal lengths. 

(B) The magnifying power increases by decreasing the focal length s of the two lenses. 

(C) The distance between the two lenses is more than (fo + fe)  

(D*) The microscope can be used as a telescope by interchanging the two lenses. 

III. la;qDr lw{en'khZ ds lanHkZ eas dkSu lk dFku lgh ughsa gS\ 

(A) nksuksa ysal de Qksdl nwjh ds gksrs gSaA  

(B) nksuksa ysalks dh Qksdl nwjh de djus ij vko/kZu {kerk c<+ tkrh gSA 

(C) nksuksa ysalksa ds chp dh Qksdl nwjh (fo + fe) ls vf/kd gksrh gSA  

(D*) nksuksa ysalksa dh vnyk&cnyh djds bl lw{en'khZ dk mi;ksx nwjn'kZd ds :Ik esa fd;k tk ldrk gSA  

 

IV. A compound microscope consists of an objective of 10X and an eye-piece of  20X. The magnification 

 due to the microscope would be  

fdlh la;qDr lw{en'khZ esa vfHkǹ';d 10X dk vkSj usf=kdk 20X dh gSA bl lw{en'khZ ds dkj.k vko/kZu gksxk 

 (A) 2   (B) 10   (C) 30   (D*) 200 
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V. The focal lengths of objective and eye-piece of a compound microscope are 1.2 cm and 3.0 cm 

respectively. The object is placed at a distance of 1.25 cm from the objective. If the final image is formed  

at infinity, the magnifying power of the microscope would be 

fdlh la;qDr lw{en'khZ ds vfHkn`';d vkSj usf=kdk dh Qksdl nwfj;k¡ Øe'k% 1.2 cm vkSj 3.0 cm gSaA fcEc vfHkǹ';d 

ls 1.25 cm nwjh ij fLFkr gSA ;fn vfUre izfrfcEc vuUr ij curk gS] rks lw{en'khZ dh vko/kZu {kerk gksxhA  

 (A) 100   (B) 150   (C*) 200  (D) 250  

 

  

  

 

 


